SIKETCRRL,EBVIL I LRE T IKTTILEBE I IFI LR B IKTRL,E IS

K48

<

N}
VQ?

Don't be an

AIRHEAD

Have a happy
Valentine's

v
=y
VoWwo

v V,
WQ?

Don't be an

AIRHEAD

Have a happy
Valentine's

V

v

(‘7
VQ?

VARV
v

Don't be an

AIRHEAD

Have a happy
Valentine's

v

VoWwo

ST
ST

ST ILETTIRLR I I IITTIRLAE
SIFI LRV IKTTILRLLEL IIFI LR IIKTIILE

SIIITIRLAE
SR L,B

éé

<I

<4

<
<S

ST

SR L,B

Don't be an

AIRHEAD

Have a happy
Valentine's

V

=0
VoW o
v V,
WQ?

Don't be an

AIRHEAD

Have a happy
Valentine's

V

V4
V¥ o
V4
WQ?

Don't be an

AIRHEAD

Have a happy
Valentine's

v

VoWwo

ST

ST ILETTIRLR I I IITTIRLAE
SF BBV IKETAIRL,E IIIFILG

SIIITIRLAE
SR L,B

éé

<I

<4

<
<S

ST

SR L,B

Don't be an

AIRHEAD

Have a happy
Valentine's

v
=0
VoW o

v V,
WQ?

Don't be an

AIRHEAD

Have a happy
Valentine's

V

v

(‘7
VQ?

VARV
v

Don't be an

AIRHEAD

Have a happy
Valentine's

v

VoY o

ST

ST ILETTIRLR I I IITTIRLAE
ST LR BIKTIRL,E IILLzILR8

SIIITIRLAE
SR L,B

éé

<I

<4

&
<S

ST

Don't be an

AIRHEAD

Have a happy
Valentine's

v
=0
VoWo

v V,
WQ?

Don't be an

AIRHEAD

Have a happy
Valentine's

V

v

(‘7
VW

VARV
v

Don't be an

AIRHEAD

Have a happy
Valentine's

v

VeoWyo

SIFIIRLL

ISILSTI 2

SIFIIRLLB

ISILSI 2

SIFIIRLL



